ADEL® LH9-3 installation instruction
LH9-3% %517 R E 7

PROFESSIONAL MANUFACTURER

Diagram of lock |7]$ii45# Lock body

A. T B. #ik C. BEIEHTETHMANMAIRL (M4*T) D. HifT E. Aigiiicss  F. Hdhigk
G. BEBUEMICkIRZ  HL IR (NN E {1 Jo B K. JE8iifES L.

M. ZHE R N. [ e AT PR R 2 (IR 1 TR A 3 RS AT 3k M5%20 M5%30 M5:%30) O. Ja#iiH
P. b Q. /T R. € FHEFHIA SR (M4%T) S. e FHEFIRINSMAIRL (M4*T)

T [ Je 9 P RER 22 (R4S 1T EA 3 T . M5+20 M5+30 M5+30)

A. Front lever handle B. Mechanical key  C. Hexagonal screws for fixing the front handle (M4*7) D. Front lock body

E. Front lock body gasket  F. Wire connector G. Screw H. Strike plate |. Strike box J. Latch

K. Back lock body gasket L. Spindle M. Back plate

N. 3 different set of screws are provided as M5*20, M5*30 and M5*30, in which the screws are used to fix the position of inner metal plate.

0. Back lock body P. Battery cover Q. Back lever handle R. Hexagonal screws for fixing the back handle s. M4*10 screw

T. 3 different set of screws are provided as M5*20, M5*30 and M5*30, in which the screws are used to fix the position of back lock body.

*: B2 EZR  The table of screws and door thickness

Dilaggar_;rj?ode Qfg%ity R;J;Z(gm ) Apprc%;i%&l;[(;J Er Ejig(/)T%]i)ckness
c 1 (M4*7) _—
R 1 (M4+7) —
S 2 (M4*10) 1-3/16” - 2-3/8”  (30mm - 60mm)
\ ) (M5*20) 1-3/16” - 1-9/16” (30mm - 40mm)
(M5*30) 1-9/16” - 1-31/32” (40mm - 50mm)
T L (M5*40) 1-31/32” - 2-3/8” (50mm - 60mm)

e N/THRLZ R 1IN [F) R FEAN R R IR MR 22 i A
Note: N/T please use the appropriate screw set based on your own door thickness.

Notices of the installation %35 ;T =5 1n:

1. ONDRIE 2R, (e SRR L N AN B g, DA S B 3 edsigds

To ensure a successful installation, please do not use power tool to
tighten the screws to avoid damage on the screw.

X

3 AEREAT IR TP LR R AR MR E, DA S BRI a1
In order to avoid eye-damage, suggest wearing eye-protection
during door-hole drilling.

2. FLFRIERRIEM RN TR TR
Please use the correct fixed-screw tool

4y RBT IR TR AN R, FEREAT T IR T LN 38 43 5 P L
HEATXIFAL, VIR L B ITAL
In order to prevent any unnecessary damage for the door, please
drill the holes from both sides of the door separately.

X °

Door-drilling FF#L

mm/in

(1/87)

(1/8")

70
(2-3/4")

11
I ] ane)

13
(1/27)

/ g M
315
(1-1/4")

14
(1/4")

B

e e
1-17/32”

Door frame preparation

I TR T LI

Door and Door frame drilling Diagram

FILR~TE

_ | 26 (1-1/327) 100
 (3-15/16")

\
5.6
(2-3/16")

N
\&

S

— q/‘
S

T_f

Door-drilling Diagram
IR ITSLIE

Template for new door FFFL1E4R

Paper template: the 2 3/8” [60mm)] backset or 2 3/4” [70 mm] backset
4 60mm K% 70mmp Ff AR

r— I I T T T T T T T
1 2 3 4 5 6 7 8 9 10 m

 _@10mm_(Fixing screw hole)

"Agujero dol omilo de fjacifzn
Single latch optical fingerprint door Lock installation template

!

. this side up
., este lado para amiba

Tatch only) 60mms{aio pestio de ¢ mefro

Center point B
L

% somm(backset)
§ 23/8inch{backset)

i Template
i Decierre

P e s T oot mate
o B et R

2 3/8” [60mm] backset 2 3/8” [60mm]AHAK

T | | I N N |
1.2 3 4 5 6 7 8 9 10 1 12 13

~10mm (Foing screw hoke)
“Agujero del tomilo do fackan

% 70mm(backset)
% 2 3/dinch(backset)

Template
De cierre

Center point
H s —

23/4" [70 mm] backset 2 3/4” [70mm]HR

Installing the strike plate %2357 1304

Ll —

THL ] 23 ]

Type T-door’s installation diagram.

Door Preparation

Note: Drill from both side of the door to prevent unsightly damage.

1. Determine which template fit your Trinity 788 installation
(‘either the 2 3/8” [60mm] backset or 2 3/4” [70 mm] backset)

2. Place appropriate paper template (supplied) onto door and mark for holes.
Next drill the hole.

™~~~

FiA*

He TR N CL B3R 115

1. 26T 2 60mmBER 2 70mm B IE & 1 2 1]

2. W AT I TFFLBERR T 1T H03E 2447 B L, S HER &, R A B L5 .
3. FRI T AT Bl S 4L

1. Mark location of strike on the door frame, making certain that the strike
opening is aligned with latch bolt.

L AR B B B0 R 1R BOE 24 fr
2. HAC FET TR A B AL
RN CARE(L TS NE o

Wi ] 2
General door’s installation diagram




Installing Latch %235 §bits

@ 2 3/8” [60mm] backset or 2 3/4” [70 mm)] backset
60mmEk, 70mmAFHR

The latch has two backsets available: 2 3/8” [60mm] backset or
2 3/4” [70 mm] backset

R 2 (T LR R 5 08 Y BEE (60mmE7 Omm)

@ Secure the latch to the door using two wood screws supplied.
Latch unit face plate must be flush with door.

T 5 B0 ) S MR 22 ST 08 o 7 S R Bl e FrO 7L

Installing spindle, and front lock body
R R BT E

Spindle
JiHh

Very important note:

As the photo shows there is an arrow
pointing up to the small triangle. This is
the only position where the clutch can be
activated during normal operation.

ey AR
IR A= e Wil S R R R NI RN
=fakr.

2. TIAIERN B 15 2 S5 AN e ) o

Front lock body gasket

Cable connector BT
/
Note:
The wire goes under the latch
v

L Hlm e EBUE T 5.
2. TP A 00 5 B R — I

Installing the back plate and
back lock body gasket

Installing the back lock body
R R

RREREREHEREN R R

1. the back plate fits into the back lock body gasket,

2. secure the back plate and back lock body gasket with two M5*L screws
( According to the door thickness to choose screws, please refer to the
table of scews and door thickness)

1. B 225 o MRS B T S B IR R e A

2. SR AL WY 0 2225 55 AR T IR R 42 44 2225 2 B % s B T e B [ s e 1) e

Battery
A & &

5

Hexagonali screws

\\

1. Connect the cable as shown

2. Push the wire connector into the hole under the latch

3. Secure the back lock body with two M4*8 screws and one M4*L
( According to the door thickness to choose screws, please refer to the
table of scews and door thickness)

L. SEAE A5 B RS Lo B R -
2. FEHR I BB ZR3R T- B0 R 77 (KA
3. R ML = PR 22 JE BT [ (b — DV T et )

1. Put the batteries in and install the battery cover
2. Handle lever is field changeable, assemble or disassemble the handle lever
with the tool supplied.

L3 4t AAFE It (B R IE S
2. R b

Note: field changeable handle lever
M SR A E AT T 5

|

Testing the operation of the lock
LR

DN =

w

I

ol

. Rotate the inside handle lever and hold. Ensure that the latch is fully

retracted and flush with the latch face plate. Release the inside
handle lever, the latch should be fully extended.

. After batteries putting in the lock, it is going in a normal situation if the

latch is retracted inside once rotating the indoor handle and holds it,
and also the latch is fully extended once releasing the indoor handle.
Please see the following diagrams in Figure 1.

. Place your finger on the fingerprint sensor, a long beep, a green light

and a motor clutch sound. Rotate the front handle lever and hold.
Ensure that the latch is fully retracted.

. With the door open, verify functionality of the mechanical key override

as shown. Take off the front handle lever, insert the mechanical key,
turn the key to vertical position then rotate the handle bar. Ensure the
latch is fully retracted.

. Figure 1 shows, the latch pin must not slip inside the strike box when

the door is closed.

TR A AR R AR T L
R ERIREERACT, MT RSN PTG, 95 BT,

JBOTITIET, B0 AZhsH, HOVIER . NSEIRET (ED

RE TR IREUE b, IRGUEINALT, OGS, WiBINLEE

e R ITET, BUEE2BATTT, BOFHET, 8(F ashiih, it
HIEHR . MBI A8 L.

BRI CRBCRET, AP, KPR s)1805%, LT IT

I

CUSFETTAN, RETT, BRI TR BB 8. EIEFARGL T, B IEMREL

BB ARETT T T

How to use mechanical key
N B R A

Correct

el
\,X'

Incorrect

&1 (Figure 1)




